Lesson 2 - Wed 1/11/23

B Vedors w 2> space

—

XYz - corlint systen

Pl
Q3,45

et |

PQ 5
paéﬁ'fm \eetor LUWJ - P&

The 2 plane 15 gYn \O%v @
Tw yz - plame 15 §n @

@ W\NU\'IS :H/u_ %MJ\)LI 03' (v S)Pb"i:f‘: WFH’\
MM ol 6 i i3 o vrediug

Plo) ,%)

point e~ Sphove Qg

[Pal ==
)<'z 0) Y-\ z-37| -

A i @

N =dius 15



v
‘ (B~ (y) + (= 8 ==
N/_\/// N pdies s

MW]S Lajh})
2 v ooy {26 MO
WZM (7 ry yz - 2% m
ot
o SPWY

' Q- Dgsm\gg/—}v\z ponYS () Frat e on T

f et om o} the Sphere
(-0)% + (y-n? + (=- 3y’

od Hu plane §=2
Plug Y73 ke L g7

Z
= 2 P(Onhﬂ

(- 0"

=)
(2-0)

Lt vedors W 3D

-
i\j':":'— <‘.,"5,'1{_7
-

wt edor %

Spevial Vectors

_F:T‘: 2w wnlékved-w in —x_,c&&—ed—rw
.37,3\: <0|\J3‘) _ u 0 &—&irtdﬂrh
izt <0y 0,17 = e 2-&




YOM

e 0D 9 (D ot ROy 2)

- io &

R is on Hu 33 pune
T, A

& Sy

(,O[\'W .I-(: ey )

ra I PR et (g

[ or i s

PR = L PR Wwheat ko is A e Lu,‘ﬂ;c’-ﬂ“(““b
<b-U ¥-1,3-1 2 :k<w =<

PR

e
P&
C X K Vi @l ] = < LoD, gk

QW ot 2¢ 2 ﬂavmﬁms

o= k(7'|> 2 W‘-}—mﬂ&
5’ kt‘ﬂ'n ? 3 sl s (x)fjjk
s Wed

3= aly- 1)
2= 2Y-*

~’ZWL =D
+ 5’_/,'2_
lﬂ"f.g

= 2l -



PQ, R are wollear When
R(T%2)




